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el iy ) s extern gl usio Comd 4 lal s

extern int TrailingStop=15;
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extern double LOTIIZE=0O.1;
extern int TakeProfit=50;
gextern int StopLoss=40;
extern int Distance Pip=10;

fextern int Trailingl3top=15;
e

doubrle hi,lo,hi for order, lo for order;
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AT e o
int starti()

if (Volume[0] >1)
returmn;

hi=iHigh (MNULL,1440,1);
lo=ilLow (NULL, 1440,1)
hi for order=hi+Dizstance Pip*Point;
lo_for order=lo-Distance Pip*Point:
Comtnent ("high=",hi,
"™ nlow=", lo,
"ynhi order=",hi for order,
"wnlo order=",lo for order):

if (Hour ()==0 && Minute()==0 && ([(Jeconds(])>=0 && Seconds(]<a0)])
{
SellitonPosition(l:
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void trail ()

{
for(int cnt=0;cnt<OrdersTotal ();cnt++)
{
Order Sel ect (cnt, SELECT_BY_PCS, MODE_TRADES) ;
{
i (O der Type()==0P_BUY)

{

i f(TrailingStop>0)
{
i f(Bi d- O derQpenPrice()>Point*TrailingStop)
{

i f(Order StopLoss() <Bi d- Poi nt*Trail i ngSt op)



O der Modi fy(OrderTi cket (), Order OpenPrice(),

Bi d- Poi nt *Trai | i ngSt op, Or der TakeProfit (), 0, G een);

return(0);
}
}
}
}
el se if(Order Type()==0P_SELL)
{

if(TrailingStop>0)
{
i f((OrderOpenPrice()-Ask)>(Point*TrailingStop))
{
i f((OrderStopLoss()>(Ask+Point*TrailingStop)) ||
(Order StopLoss()==0))
{
O der Modi fy(OrderTi cket (), Order OpenPrice(),
Ask+Poi nt *Trai |l i ngSt op, Or der TakeProfit(), 0, Red);
return(0);

}
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void trail()
{
for (int cnt=0;cnt<OrdersTotal () ;cnt++) ‘- ‘
{
Order3elect (cat, 3

i

CT_BY_POS, NODE TRADES) ! r

if (OrderType () ==0F_EUY) -+ - - pUSITION I UPEREN r
i
// check for trailing stor
if (TrailingStop>0) gf———-—"""" iy
1
if {Bid-OrderOpenPrice () >Point*TrailingStop) g O
i
if (OrderStoploss () <Bid-Point*TrailingScop) «g——— ‘l
{
Y 4 OrderModify(OrderTicket(),OrderOpenPrice(),Bid-Point *TrailingStop, OrderTakeProfit (), 0, Green) :
return(0) :
}
}
}
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CrderModify (OrderTicket () ,CrderOpenPrice () ,Bid-Point*TrailingStop, OrderTakeProfic () .0, Green) ;
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A (ﬂ.se if (OrderType () ==0P_SELL)] // go to short position "
{

/{ check for trailing stop
if (TrailingStop:>0)
{
if{ (OrderOpenPrice()-Ask) > (Foint*TrailingStop))
1
if ( (OrderStoploss () > (isk+Point*TrailingStop)) || {JdrderStopLoss()==0))

{

OrderModify (OrderTicket () ,OrderOpenPrice (], Ask+Point*TrailingStop, OrderTakeProfic () ,0, Red)

recurn(0) :
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ext ern doubl e LOTSI ZE=0. 1;
extern int TakeProfit=80;

extern int StopLoss=40;
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extern int Distance_Pi p=10;

extern int TrailingStop=15

doubl e hi,lo, hi_for_order,|o_for_order

/1| expert initialization function

int init()

{

If-=--

I]----

return(0);

/1| expert deinitialization function

int deinit()

{

If-=--

iiacas

return(0);

/1] expert start function

int start()

{

trail ();

i f(Vol une[ 0] >1)

return;



hi =i Hi gh( NULL, 1440, 1) ;
| o=i Low( NULL, 1440, 1) ;
hi _for_order=hi +Di st ance_Pi p*Poi nt ;
| o_for_order=lo-D stance_Pi p*Poi nt;
Comment (" hi gh=", hi,

"\ nl ow=", | 0,

"\'nhi order=", hi _for_order,

"\nlo order=",10_for_order);

i f(Hour()==0 & M nute()==0 && (Seconds()>=0 && Seconds() <60))
{

Sel | St opPosi tion();

Buy St opPosi tion();

}

i f(Hour()==23 & (M nute()>=0 && M nut e()<60))

Del ete_BS And_SS Orders();

return(0);

void Sel |l St opPosition()

{
i f(OrdersTotal ()>1)

return;

O der Send( Synbol (), OP_SELLSTOP, LOTSI ZE, | o_for _order, 3,1 0_for_order +
St opLoss*Poi nt, | o_for_order-

TakeProfit*Point,"M/ Sell Stop Position", 16384, 0, Red) ;

voi d BuySt opPosition()
{



i f(OrdersTotal ()>1)

return;

O der Send( Synbol (), OP_BUYSTOP, LOTSI ZE, hi _for _order, 3, hi _for_order -

St opLoss*Poi nt, hi _for_order+TakeProfit*Point,"M BuyStop Position", 16384, 0,

G een) ;

voi d Del ete_BS And_SS Orders()

{
for (int i =0; i < OdersTotal (); i++)

{

Order Sel ect (i, SELECT _BY_POS, MODE TRADES) ;

if ((OderType()==0P_BUYSTOP) || (OrderType()==0P_SELLSTOP))

O der Del et e( Order Ticket ());
}

}

void trail ()
{
for(int cnt=0;cnt<OrdersTotal ();cnt++)
{
Order Sel ect (cnt, SELECT _BY_PCS, MODE_TRADES);
{
i f (Order Type()==0P_BUY)

{

if(TrailingStop>0)
{
i f(Bid-OderQpenPrice()>Point*TrailingStop)

{
i f(Order StopLoss() <Bi d- Poi nt *Trail i ngSt op)



O der Modi fy(Order Ti cket (), Order OpenPrice(),
Bi d- Poi nt *Trai | i ngSt op, Or der TakeProfit(), 0, Geen);

return(0);

}
el se if(OrderType()==0P_SELL)

{

i f(TrailingStop>0)
{
i f((OrderOpenPrice()-Ask)>(Point*TrailingStop))
{
i f((OderStopLoss()>(Ask+Point*TrailingStop)) ||
(Order St opLoss()==0))
{
O der Modi fy(Order Ti cket (), Order OpenPrice(),
Ask+Poi nt *Trai | i ngSt op, Order TakeProfit (), 0, Red);
return(O0);

}
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